2005

3C

3c

T. Kurita

)

15

(258

679 681

11

T. Kurita

14

T. Kurita




148 1 7

T. Kurita

)

53 2 547
100
78 2 9 25
€y

148 1 7

T. Kurita

T. Kurita




T. Kurita

53

T. Kurita

53

11

[ J
[ J
T. Kurita 10
[ ]
T. Kurita 12




T. Kurita

13

T. Kurita

14

642

631

T. Kurita

631

15

T. Kurita

16




541

[E=Y




T. Kurita

21

¢y

T. Kurita

22

)

631 )
642 )

85 89

589

T. Kurita

147

23

55

T. Kurita

24




(1) 56 2

56

©))

70




148 1 8

T. Kurita 29

€y

653

T. Kurita 31

100
148 1 7
)
1 57
2 148 1 6




T. Kurita

58

33

T. Kurita

34

T. Kurita

35

¢y

T. Kurita

36




&)

T. Kurita

37

®)

108

T. Kurita

10

38

(4)

T. Kurita

39

®)

53

T. Kurita

40




(60 )

— o
=
I
— —
=

50

60




@

627 631

631
53

T. Kurita 45

)

19

20
30

T. Kurita 47

)
308 o8
3
148 8 149 1
3
3
149 2
“)
53

T. Kurita 48




@

642

T. Kurita

642 1

50

®)
[ ]
[ ]
€
642
[ ]
148 7 4
[ ]
53 3 2

T. Kurita

51

©)

T. Kurita

52




62 11 26

—

(
1600 F—> Y
\ Z

53




